S3

Counting Coins Answer Key

1)

Valerie had 9 pennies, 2 nickels, and 3 dimes in the kitchen cabinet. How much
money did she have in all?

49 cents

Chris placed 3 quarters and 4 nickels into a snack dispenser machine. What was
the total amount of money inserted into the machine?

95 cents

Helen used 2 pennies, 3 nickels, and 6 dimes to buy a hairband. What was the
price of the hairband?

77 cents

Natalie bought a bottle of juice and paid the cashier 2 quarters and 8 nickels.
How much did the bottle of juice cost?

90 cents

Hugh has 6 nickels. Stella, his friend, gives him 5 dimes. How much money
does Hugh have now?

80 cents
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